
 

 

 

 

 

           Directions : 
              Each question given below has two parts. One part is column A, the other part is column B. You                    

must find out if one part is greater than the other, or if the parts are equal, You will choose one 
answer.    

 

           Choose : 
A. If the part in column A is greater 
B. If the part in column B is greater 
C. The two parts are equal. 

Sl. No. Column A Column B 

1. 23 + 33 42 + 23 

2. (33 - 23) x 2 3 + (42 - 23) 

3. (32 x 22) + 23 (43 ÷ 22) + 32 

4. (72 - 62) ÷ 5 (82 - 33) ÷ 10 

5. 102 - 42 ÷ 8 112 - 72 ÷ 7 

6. 22 + 33 + 42 + 23 23 + 32 + 43 

7. (72 + 62) - (82 - 62) (102 - 52) - (72 + 22) 

8. (82 - 62) x (72 - 62) (102 - 82) x (32 - 22) 

9. (102 - 52) ÷ 52 (92 - 32) ÷ 32 

10. (102 ÷ 52) + 52 (92 ÷ 32) + 42 

 


